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The promotee clerk I 1s approximately what per cent of that of direct recruit
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(a) 10 (b) 9 (c) 11 (d) 10.50 (e) 9.75

Employee | Out of these | Percent of

Direct promotees
Steno 30 70
Assistant 40 60
Supervisor 50 50
Clerk I 90 10
Clerk I1 30 70
Officer | 9 10
Officer 11 70 30

Percentage of Different Types of Employees
in an Organization
Total Employees = 7000

officer 11 Steno

11% 10%
officer I Assistant
8% 15%
clerk II
20 % Supervisor
clerk I e

19 %




How many employees are supervisor?

foraa S e 22

(a) 1050 (b) 1019 (¢) 1109 (d) 1290 (e) None of these

Employee | Out of these | Percent of

Direct promotees
Steno 30 70
Assistant 40 60
Supervisor 50 50
Clerk I 90 10
Clerk I1 30 70
Officer | 9 10
Officer 11 70 30

Percentage of Different Types of Employees
in an Organization
Total Employees = 7000

officer 11 Steno

11% 10%
officer I Assistant
8% 15%
clerk II
20 % Supervisor
clerk I e

19 %




Direction: Table given below shows total products sold by six sellers. Products are of only two types ‘A’ and 'B’.
Some data is missing in table. Students are expected to calculate the missing data according to questions.
Study the data carefully and answer the following questions.
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Sellers 'Total Products sold | ‘A’ type sold (in absolute) | ‘B’ type sold (in %)
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Note : |. Total products =A' type + ‘B’ type
A Fo 3G = ‘A’ THR + ‘B’ TR




Total products sold by Sandeep and Rahul together is what percent more than total
products sold by Amit and Satish together ?
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b) 15%
c) 20%
d) 10%
e) 25%

F Total Products sold | ‘A’ type sold (in absolute) ‘B’ type sold (in %)

m 640 62. 5%

m 540
LU 80
sandeep |8 2 s5%
(LT 500

Note : |. Total products =A' type + ‘B’ type
AT Fd IAUE = ‘A’ TR + ‘B’ TR




‘A’ type product sold by Amit is 37.5% more than ‘A’ type product sold by Satish. Find ‘A’
type product sold by Amit is what percent of ‘B’ type product sold by Amit ?
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a) 60%
b) 50%
c) 40%
e o

m 640 62. s%

662 %0
m sao
LU 50
sandecy 8 624 5%
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Note : |. Total products =A' type + ‘B’ type
AT Fo IA9E = ‘A’ THR + ‘B’ THR




‘B’ type product sold by Arun is how much less than ‘B’ type product sold by Ayush if total
product sold by Ayush is 87.5% more than tntgrnducts sold by Arun.
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a) 160
b) 200
c) 260
d) 240

m 640 62. 5%

662 5%
m 540
LY 50
sandecy 8 624 35

LT 500

Note : |. Total products =A' type + ‘B’ type
AT F 391G = ‘A’ TFR + ‘B’ TR




